6551 Euler Method

Use the Euler method with the indicated step size to compute approximate values of y for
the solution of the following initial value problem. Compute ¥, y3, y3, and ys.
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3. On side of a tank that is filled with water is shown below. Find the hydrostatic force
“on this side of the tank. The lengths are given in meters. Recall that the density of water
is 9800 Newtons/meter?. +
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6552 Logistic Equations

1. First find the general solution of the differential equation. Second, solve the two initial
value problems. Solve for y.
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2. Find the indefinite integral f \/Z%dz.
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